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            Module 1

  New Vision of EE  


Sample Exam 1

1. A local bank is offering to pay compound interest of 5% per year on new savings ac​counts. An e-bank is offering 6% per year simple interest on a 3-year certificate of deposit. Which offer is more attractive to a company that wants to set aside money now for a plant expansion 3 years from now?

2. What effective interest rate per year is equivalent b 16% per year, compounded quarterly?

3. A company that specializes in crankshaft hardening is investigating whether it should update certain equipment now or wait and do it later. If the cost now is $150,000, what would the equivalent amount be 3 years from now at an interest rate of 12% per year?

4. A recent electrical engineering graduate started a small company that uses ultra​-wideband technology to develop devices that can detect objects (including people) inside of buildings, behind walls, or below ground. The company expects to spend $ 100,000 per year for labor and $125,000 per year for supplies before a product can be marketed. At an interest rate of 12% per year, what is the total equivalent future amount of the company's expenses at the end of 3 years?

5. Income from cardboard recycling at Fort Bliss has been increasing at a constant rate of $800 in each of the last 3 years. If this year's income (i.e., end of year 1) is expected to be $4000 and the income trend continues through year 5.

(a) What will the income be 3 years from now and

(b) What equal amount in years 1 through 5 is the equivalent of all the income over that time period at an interest rate of 10% per year? 

6. A manufacturer of pleasure watercraft has a contract with a parts supplier that in​volves purchases amounting to $15,000 per year for 5 years. The first purchase is to be made 2 years from now. Determine the present worth of the contract at an in​terest rate of 10% per year.

7. Calculate the equivalent annual worth (years 1 through 10) of a lease that requires a payment of $20,000 now and amounts increasing by 6% per year. Assume the lease is active for the next 10 years. Use an interest rate of 14% per year.

8. Two methods can be used for producing expansion anchors. Method A costs $80,000 initially and will have a $15,000 salvage value after 3 years. The operating cost with this method will be $30,000 per year. Method B will have a first cost of $120,000, an operating cost of $8000 per year, and a $40,000 salvage value after its 2-year life. At an interest rate of 18% per year, which method should be used?
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